Převeď na dané jednotky!
89 dm2 =		ha		
39 dm2	=	 	km2		
54 a =			m2		
97 m2 = 		dm2		
44 km2	=		ha		
81 m2	=		ha		
78 dm2	=		m2		
53 m2	=		mm2		
32 m2	=		dm2		
80 a =			ha		
17 dm2	=		cm2		
28 ha	=		m2		
41 ha	=		a		
43 mm2 =		dm2		
81 cm2	=		dm2		
20 a =			m2		
24 cm2	=		ha		
39 a =			dm2	
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Řešení:
89dm2= 0.000089ha
39dm2= 0.00000039km2
54a= 5400m2
97m2= 9700dm2
44km2= 4400ha
81m2= 0.0081ha
78dm2= 0.78m2
53m2= 53000000mm2
32m2= 3200dm2
80a= 0.8ha
17dm2= 1700cm2
28ha= 280000m2
41ha= 4100a
43mm2= 0.0043dm2
81cm2= 0.81dm2
20a= 2000m2
24cm2= 0.00000024ha
39a= 390000dm2
43m2= 0.43a
1m2= 1000000mm2
14km2= 140000a
19m2= 1900dm2
16cm2= 0.0016m2
57dm2= 0.0057a
128m2= 1280000cm2
73km2= 730000a
79dm2= 7900cm2
39dm2= 0.000039ha
10mm2= 0.0000001a
92ha= 92000000dm2
58m2= 0.000058km2
81dm2= 8100cm2
87m2= 87000000mm2
99cm2= 0.0099m2
18dm2= 0.00000018km2
29m2= 0.000029km2


